ZATEOPITRG. 1. RERT TAEREME (Z02) (FEAFHHE)
(BT : B 1)
H27 H28 H29 H30 H31
B4 (a) 106 113 119 165
FHEE ARG (b) 0 7 0 0
AT (c=a+h) 106 120 119 165
RITAEEED & OMEEVEE (d) 0 0 0 0
SCHLEER (e) 106 120 119 165
VR (f) 0 0 0 0
O HARTKIMEEER () 0 0 0 0
~H%E (h = ctd-ef) 0 0 0 0
KM+ A HFE (h = (g+h)/(ct+d)) 0 0 0 0
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AT EOPITRIL 2. SRR FAERMRE (2o 2)  (EAFHE)  (F55 - 2a)
(B 57 M)

H30 H31
B4 (a) 170
FHEBE A ATER (b) 0
AT (c=a+h) 170
RITAREE D D OMEBEE (d) 0
SCHLEER (e) 170
FUE LR (F) 0
O HARTKIMEEER () 0
AHE (h = ctd—e—f) 0
KM+ A HFE (h = (gth)/(ct+d)) 0
R+ RHERL0% 2B Z TV D ~
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ZATEOPITRY. 3. RIS FAEREmE (F02) 5K - 24)
(BT : B 1)
H27 H28 H29 H30 H31
B4 (a) 18 65 127 15
FHEBE A ATER (b) 0 0 0 0
AT (c=a+h) 18 65 127 15
ATAEEE D & OFEBER (d) 0 0 16 41
SCHLEER (e) 18 49 102 56
VR (f) 0 16 41 0
O HARTKIMEEER () 0 0 0 0
~H%E (h = ctd-ef) 0 0 0 0
KM+ A HFE (h = (g+h)/(ct+d)) 0 0 0 0
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